	TÝDENNÍ ÚKOL
č. 9
	MATEMATIKA 6. ročník
Učivo: desetinná čísla

	Termín odevzdání: 4. 12. 2020
	

	Jméno: 
	Body:                                       Hodnocení:



	1. Vypočítej:
3,53 + 2,04 =
7,4 + 6,2 =
5,9 + 3,8 =
5,86 + 2,13 =
	
5,02 + 2,07 =
1,8 + 2,15 =
3,7 + 2,22 =
4,82 + 3,18 =
	
0,05 + 2,71 =
0,57 + 0,32 =
0,7 + 0,9 =
2,7+ 3,28 =


	2. Vypočítej:
5 – 0,2 =
4 – 0,04 =
3 – 0,27 =
10 – 5,2 =
	
11 – 2,4 =
1 – 0,05 =
20 – 3,2 =
3 – 2,86 =
	
6,2 – 1,2 =
5,8 – 2,4 =
3,7 – 2,8 =
7,6 – 5,3 =


	3. Vypočítej:
10. 2,8 =
0,07. 100 =
0,26. 1000 =
100. 2,74 =
	
0,94. 1000 =
10. 0,006 =
3,72. 100 =
0,094. 1000 =
	
7,28. 10 =
19,862. 100 =
1000. 0,00083 =
0,0928. 100 =


	4. Vypočítej:
2,71: 10 =
124,7: 100 =
12826: 1000 =
0,07: 10 =

	
0,286: 10 =
2,84: 100 =
126,7: 1000 =
1983,5: 10000 =
	
1,29: 100 =
2,845: 1000 =
1275: 10 =
187,6: 10 =

	5. Zaokrouhli:
na desetiny
12,86 =
138,297 =
1,241 =
5,389 =
13,721 =

	
na tisíciny
3,8963 =
12,8121 =
4,8397 =
0,0833 =
0,17854 =
	
na setiny
5,842 =
1,258 =
11,7284 =
0,0894 =
2,7389 =

	6. Zapiš pod sebe a vypočítej:
a) 152, 633 + 56, 23 =                                                   b) 236,45 – 89,4552 =








